Your suggestions and comments for COSTWAY are really important to us!
We sincerely solicit you to go back to our shop and leave a good rating in just a
simple click. It would be quite encouraging if you could kindly do so like below:

% % % % X Great products so far

February 24, 2018

Great products so far. Fast delivery, easy setup, and working without any issues.

With your inspiring rating, COSTWAY will be more consistent to offer you
EASY SHOPPING EXPERIENCE, GOOD PRODUCTS and EFFICIENT SERVICE!

lhre Vorschlage und Kommentare fiir COSTWAY sind wirklich wichtig fiir uns!
Wir bitten Sie aufrichtig, in unseren Shop zuriickzukehren und durch nur einen Klick eine
gute Bewertung zu hinterlassen. Es wéare sehr ermutigend, wenn Sie das so tun kénnten:

% % % % X Tolle Produkte bis jetzt
24. Februar 2018
Gute Produkte. Schnelle Lieferung, einfaches Aufbauen, funktionieren ohne Problem.

Mit Ihrer inspirierenden Bewertung wird COSTWAY konsistenter sein, um lhnen
EIN SCHONES EINKAUFSERLEBNIS, GUTE PRODUKTE und EFFIZIENTEN
SERVICE zu bieten!

Vos suggestions et vos commentaires pour COSTWAY sont vraiment importants pour nous !
Nous vous invitons sincérement a revenir a notre boutique pour laisser une bonne évaluation
seulement en un clic. Ce serait trés encourageant si vous pouviez le faire comme ci-dessous:

% % %W % X Bons produits jusqu'a présent

24 février 2018
Excellents produits jusqu'a présent. Livraison rapide et installation facile. Il fonctionne sans probléme.

Avec votre évaluation inspirante, COSTWAY sera plus professionnel dans le but de
vous offrir une BONNE EXPERIENCE D'ACHATS, de BONS PRODUITS et un SERVICE
EFFICACE!

US office:Fontana

UK office:lpswich

DE office:FDS GmbH,Neuer Holtigbaum 36,22143 Hamburg,Deutschland

FR office : 26 RUE DU VERTUQUET, 59960 NEUVILLE EN FERRAIN, FRANCE

f¢ |

COSTWAY

SHOP EASY. SAVE MONEY

‘

COSTWAY

SHOP EASY. SAVE MONEY.

USER'S MANUAL/HANDBUCH/MANUEL DE L'UTILISATEUR/
MANUAL DEL USUARIO/MANUALE UTENTE/INSTRUKCJA OBSLUGI

Bathroom Space Saver / Toilettenregal / Meuble de Rangement pour Toilette /
Estanteria sobre Inodoro / Armadietto Salvaspazio Sopra Water / Szafka toaletowa
HW66491

EN|DE|FR|ES | IT|PL



Hardwares List / Hardware-Liste / Liste du Matériel / Lista de Hardware /

Lista di Hardware / Lista akcesoriow

Hardwares List / Hardware-Liste / Liste du Matériel / Lista de Hardware /
Lista di Hardware / Lista akcesoriow

A Cam-bolt Nockenschraube Boulon a came w x4 A | Permo de leva Bullone a camma Sruba mimosrodowa w x4
B Cam-lock Nockenmutter Serrure a came @ x4 B Bloqueo de leva Blocco a camma Zamek krzywkowy @ x4
C Wood Dowel Holzdibel Cheville en bois \ x20 C | Taco de madera Tassello di legno Drewniany kotek \ x20
D | screw Schraube Vis N g42mm x5 D | Tomillo Vite Wkret ™ 342mm x5
E Magnetic Catch | Magnetverschluss Loquet magnétique @ x1 E | ciere magnético Chiusura Magnetica Zatrzask magnetyczny @ x1
F Screw Schraube Vis M 4*50mm | X24 F | Tornillo Vite Wkret M 4*50mm | X24
G Barrel Nut Zylindermutter Ecrou de baril @ x24 G Nuez de barril Dado a barile Nakretka beczkowa @ x24
H Magnetic Bar Magnetstab Barre magnétique % x1 H | Bara magnética Barra magnetica Pasek magnetyczny % x1
I Shelf Pin Bodentrager Support d’étagére @ x8 [ Soporte de estante | Perno dello scaffale Wspornik potki @ x8
. @ @
J Hinge Scharnier Charniére &@’Q x1 J Bisagra Cerniera Zawias &@Q x1
K Knob Bolt Schraube von Griff Boulon y x1 K Perno Bullone Sruba y x1
Knob Griff Bouton X1 Boton Maniglia Gatka x1
L K@ L ©
M Screw Schraube Vis )@ x24 M Tornillo Vite Wkret )@ x24
N Screw Schraube Vis Ny 3*14mm X2 Tornillo Vite Wkret Ny 3*14mm X2
O | Plastic Carver Plastikhille Couverture plastique O x24 9) Cubierta plastica Coperchio di plastica Plastikowa ostona @) x24
P Screw Schraube Vis M 4*40mm x4 P Tornillo Vite Wkret M 4*40mm x4
Q | screw Schraube Vis M 4*45mm | X2 Q | Tornillo Vite Wkret M 4*45mm | X2
R Plastic Anchor Ankerbolzen aus Kunststoff Ancre en plastique ﬁ X2 R | Ancla de plastico Ancora di plastica Kotek rozporowy ﬁ x2

01

02




Part List / Teileliste / Liste des pieces / Lista de Pieza / Lista delle Parti / Lista czeSci

Part List / Teileliste / Liste des piéces / Lista de Pieza / Lista delle Parti / Lista czeSci

x1 x1
Top Panel / Oberes Brett / Panneau supérieur / Panel superior / Pannello superiore / 10 Lower Left Side Panel / Untere linke Seitenwand / Panneau inférieur gauche /
Gorny panel Panel inferior izquierdo / Pannello laterale inferiore sinistro / Lewy dolny panel

x1 x1
Bottom Shelf / Bodenplatte / Panneau inférieur / Panel inferior / Ripiano inferiore / 11 Lower Right Side Panel / Untere rechte Seitenwand / Panneau inférieur droit /
Dolny panel Panel inferior derecho / Pannello laterale inferiore destro / Dolny prawy panel

x1 x1

Middle Front Connection Bar / Mittlere vordere Verbindungsstange /Barre de

Right Adjustable shelf / rechte verstellbares Brett / Tablette ajustable droite / Estante % 1 2 connexion avant du milieu / Barra de conexién central delantera /
ajustable derecho / Ripiano regolabile destro / Prawa pétka regulowana Barra di collegamento anteriore centrale / Przedni $rodkowy pret faczacy

x1 x1

Middle Back Connection Bar / Mittlere hintere Verbindungsstange / Barre de

Left Adjustable shelf / linke verstellbares Brett / Tablette ajustable gauche / Estante Q 1 3 connexion arridre du milieu / Barra de conexion trasera media /
ajustable izquierdo / Ripiano regolabile sinistro / Lewa pétka regulowana Barra di collegamento posteriore centrale / Srodkowy tylny drazek faczacy

x1 x1
Divide Panel / geteiltes Brett / Panneau de division / Panel de division / 1 4 Lower Connection Bar / Untere Verbindungsleiste / Barre de connexion inférieure /
Pannello di divisione / Panel rozdzielajgcy - Barra de conexion inferior / Barra di collegamento inferiore / Dolny pasek taczacy

x1 x1
Middle Shelf / Mittleres Brett /Tablette du milieu / Estante del medio / 1 5 Upper Back Panel / Obere Riickenplatte / Panneau supérieur arriere /
Pannello centrale / Srodkowa pétka Panel superior trasero / Pannello posteriore superiore / Panel tylny gérny

x1 1

Upper Left Side Panel / Oberes linkes Seitenbrett / Panneau supérieur gauche /

Panel superior izquierdo / Pannello laterale superiore sinistro / Lewy goérny panel

16

Lower Back Panel / Untere Rickenplatte / Panneau inférieur arriére /

Panel inferior trasero / Pannello posteriore inferiore / Tylny panel dolny

Upper Right Side Panel / Oberes rechtes Seitenbrett / Panneau supérieur droit /

Panel superior derecho / Pannello laterale superiore destro / Panel goérny prawy

Top Connection Bar / Obere Verbindungsleiste / Barre de connexion supérieure /

Barra de conexién superior / Barra di collegamento superiore / Gorny pret tgczeniowy

17

Door / Tir / Porte / Puerta / Porta / Drzwiczki

03

04




Part List Assembly Overview / Montageiibersicht / Présentation de I’assemblage /

Presentacion de Montaje / Panoramica dell'assemblaggio / Podglad cze$ci montazowych

05 06



08

07




10

/

09




